Economic Development of Mainland

Basic Concept of Macroeconomics

· GROSS DOMESTIC PRODUCT

1. The Definition of GDP and GNP

Gross Domestic Product (GDP): is the total market value of the final goods and services produced in a country during a given period (usually one year).

Gross National Product (GNP): the total market value of the final goods and services produced by all citizens (or a country’s nationals) and capital during a given period (usually one year).

GNP-GDP=income earned by its citizens (including income of those located abroad) minus income of non-residents located in that country.  

Example: There were 4 apples, 6 bananas, and 3 pairs of shoes produced in Country A during 2005. Suppose that apples sell for $0.25 each, bananas for $0.5 each, and shoes for $20.00 a pair in 2005. Then the total market value of this economy’s production, or its GDP, is equal to what? 

4(0.25+6(0.5+3(20=64.
2. The Expenditure Method for Measuring GDP

Any good and service that is produced will also be purchased and used by some economic agents.

Economic statistician divides the users of the final goods and services that make up the GDP for any given year into four categories: household, firms, governments, and the foreign sector (that is foreign purchasers of domestic products).

Consumption Expenditure (C)

Investment (I)

Government Purchases (G)

Net Exports=exports-imports (X-M) 

Y=C+I+G+X-M (An open economy)

Y=C+I+G (A close economy) 
· CONSUMER PRICE INDEX

1. Consumer Price Index
The consumer price index is a measure of the “cost of living” during a particular period. The consumer price index(CPI) for any period measures the cost in that period of a standard set, or basket, of goods and services relative to the cost of the same basket of goods and services in a fixed year, called the base year.
TABLE 1
Cost of Reproducing the 1995(Base-year) Basket of Goods and Services in Year 2000
	Item
	
	1995
	
	2000

	
	
	Price
	
	Cost
	
	Price
	
	Cost

	Rent, two-bedroom apartment
	
	$500
	
	$500
	
	$630
	
	$630

	Hamburgers(60 at $2.50 each)
	
	$2.00
	
	$120
	
	$2.50
	
	$150

	Movie tickets(10 at $7.00 each)
	
	$6.00
	
	$60
	
	$7.00
	
	$70

	Total expenditure
	
	
	
	$680
	
	
	
	$850
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2. Inflation
The rate of inflation is defined as the annual percentage rate of change in the price level, as measured, for example, by the CPI.

TABLE 2
Calculating China’s Inflation Rates:1980-2004
	Year
	
	CPI
	
	
	
	Year
	
	CPI
	
	

	1980
	
	100
	
	             
	
	1998
	
	269.31 
	
	99.2

	1985
	
	109.30 
	
	109.3
	
	1999
	
	265.54 
	
	98.6

	1989
	
	128.97 
	
	118
	
	2000
	
	266.60 
	
	100.4

	1990
	
	132.97 
	
	103.1
	
	2001
	
	268.47 
	
	100.7

	1991
	
	137.49 
	
	103.4
	
	2002
	
	266.32 
	
	99.2

	1992
	
	146.29 
	
	106.4
	
	2003
	
	269.51 
	
	101.2

	1993
	
	167.80 
	
	114.7
	
	2004
	
	280.02 
	
	103.9

	1994
	
	208.24 
	
	124.1
	

	1995
	
	243.85 
	
	117.1
	

	1996
	
	264.08 
	
	108.3
	

	1997
	
	271.48 
	
	102.8
	


Note: Base-year=1980.
3. Deflation

A situation in which the prices of most goods and services are falling over time so that inflation is negative is called deflation.

4. Deflating a Nominal Quantity
TABLE 3
Comparing the Real Values of a Family’s Income in 1995 and 2000
	Year
	
	Nominal family
income
	
	CPI
	
	Real family income=Nominal family income/CPI

	1995
	
	$20,000
	
	1.00
	
	$20,000/1.00=$20,000

	2000
	
	$22,000
	
	1.25
	
	$22,000/1.25=$17,600


· THE DETERMINANTS OF AVERAGE LABOR PRODUCTIVITY

1. Human Capital
Human capital is analogous to physical capital(such as machines and factories) in that it is acquired primarily through the investment of time, energy, and money. 
For example to learn how to use a word processing program, a secretary might need to attend a technical school at night.

2. Physical Capital
3. Land and Other Natural Resources
4. Technology
5. Entrepreneurship and Management
6. The Political and Legal Environment
The establishment of well-defined property rights. 
Property rights are well defined when the law provides clear rules for determining who owns what resources (through a system of deeds and titles, for example) and how those resources can be used.

Political scientists and economists have documented the fact that Political instability can be detrimental to economic growth.

The Federal Reserve, primary tool for controlling the money supply is open-market operations. For example, to increase the money supply, the Fed can use newly created money to buy government bonds from the public.

· AGGREGATE DEMAND (AD)

1. Aggregate demand (AD) is the total demand for goods and services produced in the economy over a period of time.

2. Defining Aggregate Demand

Aggregate planned expenditure for goods and services in the economy 
AD = C + I + G + (X-M)

C: Consumers' expenditure on goods and services: This includes demand for durables & non-durable goods.

I : Gross Domestic Fixed Capital Formation - i.e. investment spending by companies on capital goods. Investment also includes spending on working capital such as stocks of finished goods and work in progress.

G: General Government Final Consumption. i.e. Government spending on publicly provided goods and services including public and merit goods. Transfer payments in the form of social security benefits (pensions, job-seekers allowance etc.) are not included as they are not a payment to a factor of production for output produced. A substantial increase in government spending would be classified as an expansionary fiscal policy.

X: Exports of goods and services - Exports sold overseas are an inflow of demand into the circular flow of income in the economy and add to the demand for UK produced output. When export sales from the UK are healthy, production in exporting industries will increase, adding both to national output and also the incomes of those people who work in these industries.

M: Imports of goods and services. Imports are a withdrawal (leakage) from the circular flow of income and spending in the economy. Goods and services come into the economy - but there is a flow of money out of the economic system. Therefore spending on imports is subtracted from the aggregate demand equation. 

Note: X-M is the current account of the balance of payments
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3. The Aggregate Demand Curve: Aggregate demand normally rises as the price level falls. This can be explained in three main ways:

[image: image4.png]Price
Level

P

P2

‘Agoregate Demand

N Y2 Real National Output




4. Shifts in Aggregate Demand

A change in one of the components of aggregate demand will cause a shift in the aggregate demand curve. 
For example there might be an increase in export demand causing an injection of foreign demand into the domestic economy. 
The government may also increase its own expenditure and businesses may raise the level of planned capital investment spending.
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· LONG RUN AGGREGATE SUPPLY
1. Long run aggregate supply is determined by the productive resources available to meet demand and also by the productivity of factor inputs (labour, land and capital). Changes in technology also affect the potential level of national output in the long run. 
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2. In the short run, producers respond to higher demand (and prices) by bringing more inputs into the production process and increasing the utilization of their existing inputs. Supply does respond to change in price in the short run - we move up or down the short run aggregate supply curve. 

3. In the long run we assume that supply is independent of the price level (money is said to be neutral) - the productive potential of an economy (measured by LRAS) is driven by improvements in productivity and by an expansion of the available factor inputs (more firms, a bigger capital stock, an expanding active labour force etc). As a result we draw the long run aggregate supply curve as vertical. 
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4. Improvements in labour productivity and efficiency cause the long-run aggregate supply curve to shift out over the years
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· AGGREGATE SUPPLY AND AGGREGATE DEMAND MODEL 

1. Complete AS-AD Model: Unlike the aggregate demand curve, the aggregate supply curve does not usually shift independently. This is because the equation for the aggregate supply curve contains no terms that are indirectly related to either the price level or output. Instead, the equation for aggregate supply contains only terms derived from the AS-AD model. For this reason, to understand how the aggregate supply curve shifts, we must work from the AS-AD model as a whole. 
2. Figure 3.1 depicts the AS-AD model. The intersection of the short-run aggregate supply curve, the long-run aggregate supply curve, and the aggregate demand curve gives the equilibrium price level and the equilibrium level of output. This is the starting point for all problems dealing with the AS- AD model. 

[image: image9.png]Long run Short run

aggregate aggregate
supply supply

Price
level

Output or
Income




Figure 3.1: Graph of the AS-AD model

3. Shifts in Aggregate Demand in the AS-AD Model 

The primary cause of shifts in the economy is aggregate demand. Recall that aggregate demand can be affected by consumers both domestic and foreign, the Fed, and the government. For a review of the shifters of aggregate demand, see the 

[image: image10.png]Shortun
aggregate
supply 1

Price]
level

Output or
Income

Short run
aggregate
supply 2





Figure 3.2: Graph of an expansionary shift in the AS-AD model.

In general, any expansionary policy shifts the aggregate demand curve to the right while any contractionary policy shifts the aggregate demand curve to the left. In the long run, though, since long-term aggregate supply is fixed by the factors of production, short-term aggregate supply shifts to the left so that the only effect of a change in aggregate demand is a change in the price level.

Let's work through an example. For this example, refer to Figure 3.2. Notice that we begin at point A where short-run aggregate supply curve 1 meets the long-run aggregate supply curve and aggregate demand curve 1. The point where the short-run aggregate supply curve and the aggregate demand curve meet is always the short-run equilibrium. The point where the long-run aggregate supply curve and the aggregate demand curve meet is always the long-run equilibrium. Thus, we are in long-run equilibrium to begin. 

Now say that the Fed pursues expansionary monetary policy. In this case, the aggregate demand curve shifts to the right from aggregate demand curve 1 to aggregate demand curve 2. The intersection of short- run aggregate supply curve 1 and aggregate demand curve 2 has now shifted to the upper right from point A to point B. At point B, both output and the price level have increased. This is the new short-run equilibrium. 

But, as we move to the long run, the expected price level comes into line with the actual price level as firms, producers, and workers adjust their expectations. When this occurs, the short-run aggregate supply curve shifts along the aggregate demand curve until the long-run aggregate supply curve, the short-run aggregate supply curve, and the aggregate demand curve all intersect. This is represented by point C and is the new equilibrium where short-run aggregate supply curve 2 equals the long-run aggregate supply curve and aggregate demand curve 2. Thus, expansionary policy causes output and the price level to increase in the short run, but only the price level to increase in the long run.

The opposite case exists when the aggregate demand curve shifts left. For example, say the Fed pursues contractionary monetary policy. For this example, refer to Figure 3.3. Notice that we begin again at point A where short-run aggregate supply curve 1 meets the long-run aggregate supply curve and aggregate demand curve 1. We are in long-run equilibrium to begin. 
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Figure 3.3: Graph of a contractionary shift in the AS- AD model

If the Fed pursues contractionary monetary policy, the aggregate demand curve shifts to the left from aggregate demand curve 1 to aggregate demand curve 2. The intersection of short-run aggregate supply curve 1 and the aggregate demand curve has now shifted to the lower left from point A to point B. At point B, both output and the price level have decreased. This is the new short-run equilibrium. 

But, as we move to the long run, the expected price level comes into line with the actual price level as firms, producers, and workers adjust their expectations. When this occurs, the short-run aggregate supply curve shifts down along the aggregate demand curve until the long-run aggregate supply curve, the short-run aggregate supply curve, and the aggregate demand curve all intersect. This is represented by point C and is the new equilibrium where short-run aggregate supply curve 2 meets the long-run aggregate supply curve and aggregate demand curve 2. Thus, contractionary policy causes output and the price level to decrease in the short run, but only the price level to decrease in the long run. 

This is the logic that is applied to all shifts in aggregate demand. The long-run equilibrium is always dictated by the intersection of the vertical long-run aggregate supply curve and the aggregate demand curve. The short-run equilibrium is always dictated by the intersection of the short-run aggregate supply curve and the aggregate demand curve. When the aggregate demand curve shifts, the economy always shifts from the long-run equilibrium to the short-run equilibrium and then back to a new long-run equilibrium. By keeping these rules and the examples above in mind it is possible to interpret the effects of any aggregate demand shift in both the short run and in the long run. 

4. Shifts in Aggregate Supply in the AS-AD Model 

Shifts in the short-run aggregate supply curve are much rarer than shifts in the aggregate demand curve. Usually, the short-run aggregate supply curve only shifts in response to the aggregate demand curve. But, when a supply shock occurs, the short-run aggregate supply curve shifts without prompting from the aggregate demand curve. Fortunately, the correction process is exactly the same for a shift in the short-run aggregate supply curve as it is for a shift in the aggregate demand curve. That is, when the short-run aggregate supply curve shifts, a short- run equilibrium exists where the short-run aggregate supply curve intersects the aggregate demand curve. Then the aggregate demand curve shifts along the short-run aggregate supply curve until the aggregate demand curve intersects both the short-run and the long-run aggregate supply curves. Once the economy reaches this new long-run equilibrium, the price level is changed but output is not. 

There are two types of supply shocks. Adverse supply shocks include things like increases in oil prices, a drought that destroys crops, and aggressive union actions. In general, adverse supply shocks cause the price level for a given amount of output to increase. This is represented by a shift of the short-run aggregate supply curve to the left. Positive supply shocks include things like decreases in oil prices or an unexpected great crop season. In general, positive supply shocks cause the price level for a given amount of output to decrease. This is represented by a shift of the short-run aggregate supply curve to the right. 
Let's work through an example. For this example, refer to Figure 3.4. Notice that we begin at point A where short-run aggregate supply curve 1 meets the long-run aggregate supply curve and aggregate demand curve 1. Thus, we are in long-run equilibrium to begin. 
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Figure 3.4: Graph of a positive supply shock in the AS- AD model

Now say that a positive supply shock occurs: a reduction in the price of oil. In this case, the short-run aggregate supply curve shifts to the right from short-run aggregate supply curve 1 to short-run aggregate supply curve 2. The intersection of short- run aggregate supply curve 2 and aggregate demand curve 1 has now shifted to the lower right from point A to point B. At point B, output has increased and the price level has decreased. This is the new short-run equilibrium. 

However, as we move to the long run, aggregate demand adjusts to the new price level and output level. When this occurs, the aggregate demand curve shifts along the short-run aggregate supply curve until the long-run aggregate supply curve, the short-run aggregate supply curve, and the aggregate demand curve all intersect. This is represented by point C and is the new equilibrium where short-run aggregate supply curve 2 equals the long-run aggregate supply curve and aggregate demand curve 2. Thus, a positive supply shock causes output to increase and the price level to decrease in the short run, but only the price level to decrease in the long run. 
Let's work through another example. For this example, refer to Figure 3.5. Notice that we begin at point A where short-run aggregate supply curve 1 meets the long run aggregate supply curve and aggregate demand curve 1. Thus, we are in long-run equilibrium to begin. 
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Figure 3.5: Graph of an adverse supply shock in the AS- AD model

Now say that an adverse supply shock occurs: a terrifying increase in the price of oil. In this case, the short-run aggregate supply curve shifts to the left from short-run aggregate supply curve 1 to short-run aggregate supply curve 2. The intersection of short-run aggregate supply curve 2 and aggregate demand curve 1 has now shifted to the upper left from point A to point B. At point B, output has decreased and the price level has increased. This condition is called stagflation. This is also the new short- run equilibrium. 

However, as we move to the long run, aggregate demand adjusts to the new price level and output level. When this occurs, the aggregate demand curve shifts along the short-run aggregate supply curve until the long-run aggregate supply curve, the short-run aggregate supply curve, and the aggregate demand curve all intersect. This is represented by point C and is the new equilibrium where short-run aggregate supply curve 2 equals the long-run aggregate supply curve and aggregate demand curve 2. Thus, an adverse supply shock causes output to decrease and the price level to increase in the short run, but only the price level to increase in the long run. 

This is the logic that is applied to all shifts in short-run aggregate supply. The long-run equilibrium is always dictated by the intersection of the vertical long run aggregate supply curve and the aggregate demand curve. The short-run equilibrium is always dictated by the intersection of the short-run aggregate supply curve and the aggregate demand curve. When the short-run aggregate supply curve shifts, the economy always shifts from the long-run equilibrium to the short-run equilibrium and then back to a new long-run equilibrium. By keeping these rules and the examples above in mind, it is possible to interpret the effects of any short-run aggregate supply shift, or supply shock, in both the short run and in the long run. 

5. Conclusions from the AS-AD Model 

This section has served a number of purposes. First, we covered how and why the short-run aggregate supply curve shifts. Second, we reviewed how and why the aggregate demand curve shifts. Third, we introduced the mechanism that moves the economy from the long run to the short run and back to the long run when there is a change in either aggregate supply or aggregate demand. At this stage, you have the ability to use the highly realistic model of the macroeconomy provided by the AS-AD diagram to analyze the effects of macroeconomic policies. This will prove to be the most powerful tool in your collection for understanding the macroeconomy. Use it wisely!
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